Faculty of Computers & Information:       SHEET 2 : 
Choose the right answer: 
1- An oscillating block-spring system has a mechanical energy of 1.0 J, amplitude of 0.10 m, and a maximum speed of 1.2 m/s. The mass of the block is,

a) .0140 Kg     b) 0.140 Kg      c) 1.40  Kg      d) 14.0 Kg

2- A simple harmonic wave having amplitude A and time period T is represented by the equation    y = 5 sin π(t + 4) meters. Then the value of A (in meters) and T (in seconds) are 

    (a) A = 5, T = 2  ,        (b) A = 10, T = 1        ,(c) A = 5, T = 1   ,     (d) A = 10, T = 2

3- The speed of waves in a stretched string depends upon which one of the following?
a) The tension in the string               b) the amplitude of the waves    
c) The gravitational field strength         d) the wavelength of the waves.

4- A sinusoidal wave of frequency f is traveling along a stretched string. The string is brought to rest, and a second traveling wave of frequency 2f is established on the string. The wave speed of the second wave is : 
    (a) twice that of the first wave                      (b) half that of the first wave 

    (c) the same as that of the first wave            (d) impossible to determine.
5- A wave travels in a medium according to the equation of displacement given by

     y(x,t) = 0.03 sin  ( 0.01x – 2 t), where y and x are in meters and ‘t’ is seconds. The wavelength of the wave is         (a) 200 m        (b) 100 m         (c) 20 m          (d) 10 m

6- The amplitude of two waves are in the ratio 5:2. if all other conditions for the two waves are same, then what is the ratio of their  energy rates? 

         (a) 5 : 2     ,  (b) 10 : 4      ,   (c) 2.5 : 4         ,      (d) 25 :4 

7- On the moon, gmoon = 1/6 g earth  A pendulum has a period of 1.00 s at the surface of the moon, the frequency   will be different if the spring-mass system oscillates on Earth.     

                    True (   )             False (  )

8- Doubling the frequency of a wave source doubles the speed of the waves: 

                   True   (   )             False (  )
9- When a wave pulse travels from medium A to B where vA> vB , the pulse is inverted upon reflection.
                   True   (   )             False (  )
